980604 - C1 Class - IX
HAT - IX
SCIENCE

fagm=

Time allowed : 3 to 3%2 hours Maximum Marks : 80
T : 39 31, He AfRay A% : 80

Total No. of Pages : 14
Fa <81 H HEA : 14

General Instructions :
The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Which one of the two solutions will scatter light sugar solution or soap solution ?

Two cars A and B have their displacement time graph as given below. Which car has
a greater velocity ?

y B

A

displacement (m)
 ——

What is meant by buoyant force ?
State the meaning of mixed cropping ?

(a) Convert 359 K to celsius scale (°C).
(b) What is the value of boiling point of water on Kelvin scale of temperature ?

What are metalloids ? Give two examples.

The following displacement - time graph shows the positions of a body at different
times. Calculate the velocity of the body as it moves from
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An athelete completes one round of a circular track of diameter 49m in 20s. Calculate
the distance covered and displacement at the end of 30s.

Why is it advisable to tie luggage kept on the roof of a bus with rope ?

A nail is driven into a wooden board by using a hammer. The impact of the hammer
on the head of nail produces a thrust of 25N. If the area of the head is 0.5 mm? and of
the tip is 0.1 mm?, find the pressure on the head and the tip of the nail.

List two characteristics each of roughage and concentrate in relation to animal feed.
Mention the two types of food requirements of dairy animals.

“Removal of weeds from cultivated fields during the early stages of growth of crops is
essential for a good harvest”. Justify the statement.

Classify the following as osmosis or diffusion.

(a) Aquatic animals using oxygen dissolved in water during respiration.
(b)  Swelling up of raisins on keeping in water.

(c) Spreading of virus on sneezing.

Define sublimation. Draw a labelled diagram to illustrate the process of sublimation.

Which cell organelles are called the power houses of the cell and why ? Why is ATP
called energy currency of the cell ?

Draw a neat diagram of an animal cell and label on it the following :

Plasma membrane, Nucleus, Lysosome
List any three functions performed by endoplasmic reticulum.

A car is moving on a straight road with a uniform acceleration. The following table
gives the speed of the car at various instants of time.

Time (s) 0 10 20 30 40 50
Speed (ms™") 5 10 15 20 25 30

(i) Draw the shape of speed - time graph representing the above sets of observations.
(i) Find the acceleration of the car.
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Define momentum of a body.
A ball is thrown vertically upward. What is its momentum at the highest point ?
State the law of conservation of momentum.

State universal law of gravitation. Write SI unit of G. The gravitational force between
two objects is 100N. How should the distance between the objects be changed so that
force between them becomes 50N ?

A particle is thrown up vertically with a velocity of 50ms~1. How high would the
particle rise and what time would it take to reach the highest point ? (g=10ms 2

(a) What is distillation ? List the two conditions essential for using this as a method
of separation of components of a mixture.
(b) Draw a labelled diagram of the apparatus used to separate a mixture of two
miscible liquids.
OR

Based on the following characteristics distinguish in tabular form the behaviour of true
solution, suspension and colloidal solution.

(a) appearance
(b)  visibility

(c) filterability
(d) tyndall effect
(

e) particle size

(a) State Newton’s second law of motion and establish the relation F=ma.
(b)  Give reasons for the following
(i) If a boy jumps out of a boat, the boat moves backwards
(ii) The passengers sitting in a bus fall backwards when the bus starts suddenly.
OR
State Newton’s first law of motion and also deduce it using second law.

A steam engine of mass 3 x 10* kg pulls two wagons each of mass 2 x 10* kg with
an acceleration of 0.2ms ~2 Neglecting functional forces, calculates the :

(i) force exerted by the engine.
(if) force experienced by each wagon.

State two types of plastics ? Write one function of each.
What is a ligament ? Mention its function.
OR
What are chromosomes ? List their two functions.
What is areolar tissue and where is it found ? Give its two functions.
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SECTION - B

A student added milk, white of an egg, common salt and sand separately to water kept
in fair separate beakers. He stirred the mixtures well and filtered each of them. On
filtering he obtained solid residue of the filter paper in case of :

(@) milk

(b) white of an egg
(c) common salt
(d) sand

Some properties of solutions are given below :
I) Stable

IT) Translucent

III) Can pass through filter paper unchanged colloidal solutions exhibit
b) properties I and II both

c) properties II and III both

(
(
(
(a) property I only
(
(
(

d) all the three properties

A well stirred and filtered solution of egg albumin in water forms :

(a) true solution
b) suspension
c¢) colloidal solution

d) emulsion

To prepare iron sulphide by heating a mixture of sulphur and iron, we should use a :
(a) copper dish

(b)  petri dish

(c) watch glass

(d) china dish

When iron filings and sulphur are heated :
(a) a black mass is obtained

(b)  the mixture changes from black to yellow
(©)

(d) the mixture becomes brown

a pungent smelling gas is produced
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31. When we mix barium chloride solution with sodium sulphate solution in a test tube we
observe that immediately :

(a) a white precipitate is formed

(b)
(©)
(

d) the solution turns red

a yellow precipitate is formed

the reaction mixture turns blue

To separate a mixture of sodium chloride and ammonium chloride the most commonly
technique used in school laboratories is :

(a) evaporation
b

(b)
(c) sublimation
(

distillation

d) filtration

In the experimental set up shown in the figure the missing item in the set up is :

funnel

china dish containing
camphor and sand

tripod stand
burner

Thermometer
Two holed cork
One holed cork
Cotton plug

In the experiment on to determine the boiling point of water while fixing thermometer
care is taken that the bulb of the thermometer should :

be dipping in water
just touch the surface of water
he in steam

touch the pumice stone piece placed at the bottom of the flask
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To determine the melting point of ice a student immersed the bulb of the thermometer
in the crushed ice in a beaker. He then heated the beaker on a low flame and observed
that during melting of ice the temperature :

(a) is increasing

b) is decreasing

(
(c) first decreases and then continuously increases
(

d) remains constant

In the preparation of temporary mount of onion peel which of the following is not used :
(a) water

(b) glycerine

(c) safranin
(

d) alcohol

Animal cells are commonly stained with :
(a) methylene blue

(b) acetocarmine

(c) safranin
(

d) iodine solution

A student observed a permanent slide. On observation he found striations but no cell
wall. From this it may be concluded that the given slide is of :

(a) Striated muscles

(b) Non - striated muscles
c¢) Neuron

(

(d) Cardiac muscles

If you are shown two slides of plant tissues - parenchyma and scalerenchyma, you can
identify scalerenchyme by the :

Location of nucleus
Thickness of cell wall
Size of the cells

Position of vacuoles
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40. To given three food samples in test tubes A, B and C, reagent HCl is added and solution
in B turned to pink colour. So, B confirmed the presence of

(a) Starch
(b) Fat

(c) Metanil yellow
(d) Protein

The test tubes A, B and C are taken with food samples of dal, mustard and rice
respectively in powdered form. On adding iodine solution the blue black colour is
observed in

(a) Test tube A
(b) Test tube B
() Test tube C
(

d) None of these test tubes
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(a) 359 K = Hfcqad AMIshd (°C) H TAINRA hifIT |
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(a) forslt oreq o Haw st gfwmn fafe
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980604 - C1




(a) TIURIA F1E ? ST S HET HI YA IR
(b) TR s 91 § 3R 3 el o < § 2 39 <1 % fafa |
g ‘q’

T BE A =R JUeh el H STal ook 3TH Uk ¥9 H Y, 37U i Yhal, FIYR THE a1 3
o sHa fagol it welwifa facifed w3 goe #t feifea fran freefa 0 WA
e yerto ® fifeet o W 3 eraw et 98 ® -

(a) T (b) 37U HT R
(c) ¥R THh d

= ferereri & Fo U fog MU E

1O et (II) AR

(1) fRee v § fom 9Rafia gu oAl widsed foees Teid ©
(a) HIA U] (b) OIS T[T ST
(c)  T[OT I T T[0T 111 ST (d) |t T

S H 37U i Thel i ufawifa faeifed iR fireefa (Fefe) 0 Mo ©
(a) aTEifoeh foerad (b) Term
(c) chiazed faerem (d) 3sHIH

HEHL qAT ARLTT ol TH Tieh R GoehEe oM o fau g6 Suam e =iy
(a) dTS I A (b) TSt fem
(c) 9= Ta™ (d) = feu

ST AT T TR R TH I § @
(a) T e 3 R I 7 | (b) oSO =1 1wt © el & S g
(c) e iy w1 Y Rt ¥ (d) fagoqmE SR

a1 &0 fordt Tee § W Wifean gethe faeem # afem sanmee faeem faam € d o8 e
(a) TH T AT T T (b) T T T ST T
(c)  srfufeman fasgor e & S €1 (d) foeme @ & e R

980604 - C1
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980604 - C1




S, hIfvTeRTstl 1 SRR FA & | ST foRa S €
(a) Hefiel s (b) UHIEIRMEA
(c) HHAH (d) emEAfed faaaa

ot foremeft = Tomdt Tege 1 eror A W I U o 3eE et § weg wifvren fufh 72 2
T Jaronl ¥ Ig Fohd frisharan € o < ot wmse W €

(a) X ueft (b) eRfEd e

~

(c) =M (d) & Tl

Ife SATIHRT S UIEY Tkl - TRISHT AT THALRIZHAT i TS fe@e St & a1 319 Seh!
A fhds g1 i ?

(a) h=ehl =t feufa (b) IRt Tafd it Tgerar
(c) RIfYTRI 1 WIES (d) @l @t feafa

feu e @re gl & A R @I A, B d° C H S-S AR 39 9t |
Afusrtiss HCI faaman mn iR I e T fo et B 1 faaas o & TR e T
gifred ¢ for et o S geref € sod sufeed ® -

(a) ®WHE (b)
(c) Hefia =en CVRRIGIE!

T REetal A, B9 C H T e, T, T <16 o T 98eX (Jol) % &9 § forg 7w |
T sTeife faeram faam R fen-sen 1 foa waret & foums fean mnsg ¢

(a) @Al A (b) TGl B
(c) U@t C (d) T 9 fordt ° 72|

980604 - C1




